
Page 1 of 2
REV 7.25.18

BEDSLIDE.COM | 888.807.0099

STEP 1.
MOUNT SIDE TOWERS 
Slide (2) MOUNT BLOCKS through the open end of the BEDTRAX on each side. Then secure each  
SIDE TOWER the MOUNT BLOCKS using the supplied 1/4-20 allen head bolts. Use (2) bolts per side. 

*PLEASE NOTE: BEDSLIDE® recommends a D-ring tie down be mounted in front 
of and behind each of the SIDE TOWERS. Position the D-ring tie downs in the desired locations prior 
to securing the side towers.

DO NOT TIGHTEN!! 

GET TO IT.

Supplied Hardware: (8) 1/4-20 x 3/4 Allen head bolts, 
(8) UHMW mount blocks, (2) 1/4-20 set screws,
(2) GUARDRAIL end caps

Tools Needed: Allen head wrench

GUARDRAIL   
ASSEMBLY 

X2 X2



Page 2 of 2BEDSLIDE.COM | 888.807.0099

STEP 2.
INSTALL GUARDRAILS 
Insert one end of each GUARDRAIL (slot facing inside) into each of the CORNER TOWERS. Insert a 
MOUNT BLOCK through the opposite end (tailgate end of BEDSLIDE) of the GUARDRAIL, slide to each 
corner and secure GUARDRAIL to the MOUNT BLOCK using supplied 1/4-20 allen head bolt. Next insert 
SIDE TOWERS on to the GUARDRAILS, slide a MOUNT BLOCK through the slot in the GUARDRAIL and 
fasten with supplied 1/4-20 allen head bolt. *PLEASE NOTE: 6” OF THE GUARD RAIL SHOULD BE STICKING 
OUT PAST THE SIDE TOWER FOR A CLEAN LOOK. 

THAT’S IT! YOUR BEDSLIDE® IS FULLY ASSEMBLED!

6”

6”


	Page 1
	Page 2

